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Ek,+Ep, =Ek,+Ep, Ek=m*V2

Ep=m*g*h
Ek, - Ek, =—(Ep, - Ep,) 2

P77 YO0 720 71K 7Y . 10m/sec Hw mvnna nhynt Pt 30kg nonw L1

?ATR 7197 R M IR .2mM S 72 991 10kg anonw a2

P30 7213 AKY LIRIR 9910 60m/sec Sw n1nvna aovn pan 2kg nonw a1 .3
AT 7197 RIT MR R 2757

2717 O3 720 AR 7Y .36Km/h v mnna nhynt Pt 60kg nonw a1 4

2MTRI 7197 RIT MR R .AM Sw 72 9o 15kg nonw a5

PO 7212 APKRY IR 991 20m/sec Sw mnena aovn pan 4kg nonw i .6
?7MTRA 797 RIT NN IR 291507

7 ¥O3° 720 arKR? 7Y . 72km/he Sw mvanea abvab pan 20kg anonw a7

?mATRA 1701 X7 MR 1Ra .200em Sw 72 9o 20kg nonw a8

YO0 7213 K7 780K 991 18km/h Sw n1nvina 3%vn pan 16kg nonw i .9
?7MTRA 1797 RIT MR IR 29107

P07 PO 720 A1KRY 7Y .5m/sec Sw mnvana 7%vn? pan 15kg nonw i .10

AT 197 RIT MR K2 .20em W nann 201 100kg wnonw A .11

YO0 7213 K7 LIROR 991 72kmv/h Sw n17°na 3%vn pan 200g nonw .12
P72 7197 RIT MR R 2757

P77 YO 720 71K 7Y .60m/sec Hw nvvnna n5ynt P bkg nonw ai .13

O30 7213 K7 L3R 991 Okmvh Hw myvnna mhynb para 50g nonw i .14

TR 727 RIT NI IR 7917



